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QUESTION 1

Site A is configured with a WLAN and a policy. The administrator creates a configuration template at the organization
level with additional policies for the same WLAN and mentions Site A in this template. In this scenario, which statement
is correct? 

A. The policy that is created in the config template at the organization level will execute first. 

B. The policy created at the organization level can be applied to a site group, not to an individual site. 

C. The policy that is created at the site level will execute first. 

D. There is no option to mention the site in the config template at the organization level. 

Correct Answer: A 

Reference: https://www.mist.com/documentation/create-1st-wlan-using-configuration- templates/ 

 

QUESTION 2

What does Mist\\'s patented 16-element vBLE Antenna Array do when "engagement" is enabled? 

A. performs radio resource management 

B. locates Wi-Fi assets 

C. transmits unique and directional BLE beams 

D. performs personal pre-shared key sharing 

Correct Answer: C 

Reference: https://www.mist.com/resources/ap61-access-point/ 

 

QUESTION 3

Which two authentication methods would be used with a guest portal? (Choose two.) 

A. social login 

B. external portal 

C. RSA 

D. Kerberos 

Correct Answer: AB 

 

QUESTION 4
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Referring to the exhibit, you asked Marvis to troubleshoot a client. In this scenario, what did Marvis determine? 

A. two authentication failures over this week 

B. two DHCP failures today 

C. DHCP errors over the past seven days 

D. two authentication failures today 

Correct Answer: A 

Reference: https://www.mist.com/documentation/mist-experience-marvis-client/ 

 

QUESTION 5

Which two SLEs measure the amount of time that it takes for a process to complete? (Choose two.) 

A. roaming 

B. AP uptime 

C. throughput 

D. time to connect 

Correct Answer: CD 

Reference: https://www.juniper.net/documentation/us/en/day-one-plus/mist/mist-cloud-day- one-plus.pdf 

JN0-451 PDF Dumps JN0-451 Exam Questions JN0-451 Braindumps

Powered by TCPDF (www.tcpdf.org)

JN0-451 PDF Dumps | JN0-451 Exam Questions | JN0-451 Braindumps                                3 / 3

https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
https://www.geekcert.com/jn0-451.html
http://www.tcpdf.org

